Das Einsdurcheins mit 7 Uben [1]

Zum kleinen Einmaleins

Aufgabe 1

1. 14 7= O 9 o7 O 2 6
2. 42 7= () 1 ) 6 ) 8 () 10
507 7= () 1 O *|llo 2 ||0 5
470 ;7= (O 5 (O 10 O 1 O 4
5. 49 7= (O 1 o7 o6 o9
6. F 7= 0O 1 o7 ) 3 6
;7 .F = (O 9 O o 5 1
Aufgabe 2

o2 = O 2 O 9 O 3 0O 4
2% r= O 9 O 3 O 10 0O 2
3. 42 :F = () 9 3 S 6
4. 14 F = () 9 4 2 ) 5
5 63 ;7= () 9 3 2 O
6 0 :F= O 0 O 5 O 4 O 2
749 F = () 7 ) 4 3 5
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Das Einsdurcheins mit 7 iben [1] | ANTWORTEN

Zum kleinen Einmaleins

Aufgabe 1

. 14 7

O
O
O

2 427 = O 7 Q 8 () 10
3.7 7=‘I]O PO 2 O 3
4 F0:7- O 5 @ 10| O 1 O 4
5. 49 :7= O 1 |@ F| O 6 O 9
c ro-[e@ )]0 7030
o7 ir- O 9 O 10 () 5 @

Aufgabe 2

21 7= (O 2 o9 E' 4
) 14 .F7= (O 9 O 3 O 1 @ 2
3. 42 7= () 9 3 S @ ¢
414 7= O 9 (O 4 El O 3
50 63:7=|@ 7 o3 O 2 o1
6. 0 :7-|@ 0 O 5 O 4 O 2
749 :7=|@ 7 o 4 o3 3
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